SOLUTION : DANGAL#04
DATE : 15 March, 2025
1 .quRYT 8.
F-32 C AF AC
2 — = =—-=>—=—
9 5 9 5
3 Final temperature 0° C
ice melt = 8 (mass of steam) 1.
4.  EM wave does not require medium for
propogation. 20.
5. Using phasor diagram,
2
A A cos60° ) (Acos30°) =A
Axg
‘ [ -
21
v— =a=constant
22,
fYR y1
7. y
" 2.
\/7 3 40
— X —=X— X —_—
55 32 V25 4 \20
PdV  nRdT dav 1 24,
8 PV=nRT= —= a = )
PV nRT vdaT T
2v
2V o f=n=
9. Ax=(n-2)r=nr= = r(n-2) 25.
26.
2
0.04 27.
0. T=p2=p2 =004"""7 _625N
k2 21
0.50
M. Pattern shown in the figure is standing wave | 28,
Hence particles at position A and B are in phase.
P 1 R , 1 1
2 Il=—==2lco=lcA" A co-Ac- 20.
4nr’ r’ r’ r
13.  x=Asin(ky - ot) is the equation of travelling wave
along positive y-direction. 30.
72
4. f+72=4f, =1 = 3 24Hz u
5. K=10n=21/A=10n=A=02m.
16 ~ 20 _K 7O+50_30 sz_g
) 1 3
10 2(50+40 .
__=__[ —30] = t=1minute 32
t 3 2
7 KA(20-T) N KA(40-T) KA(T-0)
' 2L L 2L 33

CODE : 9074 (SET-A)

onsolving T =25°C

DANGAL TesT SERIES @
for NEET-2025 A “1
v . 7v . 3v . 5v

1=§'2_ﬂ'3_ﬂ'4_ﬂ
f:f:f:f =8:7:6:5

AF AT LA _f 2
2T 400 2{100
s Af=4Hz

y =2Asin kx cosmt
This is an equation of standing wave with
maximum amplitude 2A
Maximum particle velocity
V,= o xamplitude =0 x2A=2A
KA +IA, Kk +2k,
A+A 3
|, f Al 25

L, 2 A2 16

| +e 48 +e

Z___ =3 =3
|, +e 15+e

48+e=45+3e = e=15cm

7
Q, =nC,(T,-T,) =140 = nER(TZ -T,)
w =nR(T, - T,) = 40

PV>3 = constant

AU =0 (for cyclic process) Q=W
5, .,-Cp_ 5
CP=CV+R:ER y CV 3
x 3
SOPoc T e T2
Slope o y =7>7
(Mono) (Diatomic)
Mean free path (1) = -
x/Enndz
3
E.. . ==PV
Trans 2
. :\/vf +V3 +V3 4V
rms 4
_\/12 +2’+62+8  [105
4 4

RT
PV=nRT:P=nT

P oc T it means V is constant.
1 T 1

_=‘|__:>_:’|_w

T, 3 Ty
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\\NE Co
\ DANGAL 7esT SERIES SOLUTION : DANGAL#04 CODE : 9074 (SET-A)
o for NEET-2025 DATE : 15 March, 2025
T 4 5 1 T —50 39. AreaunderP-V graph from A to B is equal to work
L= T =T > -=1-L = T, =300K
T, 5 4 5 T done.
4t
AW & =(—150+100Jx105 x (900 — 600)
3RT 3PV 2
34' r.m.s. = Ve r.m.s. =
m =3.75x10°J
Vv 40. PV=nRT=V=nRTP=T/P=V=V, >V
(r~m5~)B: 4X4=2\/5:1 2 1
(V ) 2x1 2
U m 300=1 2] . T=300x2 = 675K
T, Q 273 Q, ' 27 B 4
35. T_T 30 2 .
1L W Rise= 675 —300 = 375K
36. W=2P3Vy= Qqpplied = Que + Qe 42.  Volume is increasing therefore work done will
2PV 6P V always increase.
Qo= gty = 0 = B =, ’ : :
(3—1J 43, G -C,=R andy:é;yCV—CV:R:CV:ﬁ
5 44. PV=nRT (n= no.of moles)
o - 5>< 3PV, 9 15P,\, " f
BCT g BC > _ Mass of gas 10 PV ERT
5—1 Molar mass 32 32
45.  Work done during process BC by gas
Q _3py, + 2ot _ 2o _ LoV _ 2 = Area below graph
supplied 0°0 p) 21P0V0 21 1
2 = -—(20+50)x(6-2) =-140
37. Work done = Area of triangle .2 .
By first law of thermodynamics to the process BC
=l><v><2P=PV Q=AU+W=60=AU+(-140) .. AU=200)
2 ie. Ug— Uy =200 ]
g n=1-0_ 1w - o Uc - 50 =200 J = U, =250 J
) 400 4 Q, 4
Answer-Key
1. 4 2, 2 3. 1 4, 1 5. 1 6. 4 7. 1 8 2 9. 1 10. 4
n. 1 12. 3 13. 1 14. 3 15. 1 16. 1 7. 1 18. 3 19. 4 20. 4
21. 4 22, 3 23. 3 24, 2 25. 4 26. 2 27. 4 28. 3 29. 4 30. 2
31. 3 32. 3 33. 3 34. 3 35. 2 36. 2 37. 1 38. 1 39. 3 40. 1
4. 2 42, 3 43, 3 44, 4 45, 3 46. 2 47. 3 48. 4 49, 2 50. 1
5. 3 52, 3 53. 4 54, 4 55. 1 56. 3 57. 4 58. 3 59. 4 60. 4
61. 4 62. 3 63. 2 64. 3 65. 3 66. 3 67. 4 68 2 69. 1 70. 1
n 2 72. 4 73. 3 74. 2 75. 3 76. 3 77. 1 78. 1 79. 4 80. 3
8. 2 82, 2 83, 1 84. 4 85. 2 86. 2 87. 3 88. 1 89. 4 90. 4
91. 1 92, 2 93. 2 94. 4 95. 3 96. 3 97. 1 98. 1 99. 2 100. 4
101. 3 102. 4 103. 1 104. 4 105. 2 106. 1 107. 2 108. 3 109. 3 10. 2
m. 2 1M2. 2 1n3. 4 1n4. 4 15. 3 1m6. 1 1n7. 4 8. 3 1M9. 4 120. 1
121. 2 122. 1 123. 3 124, 4 125. 3 126. 1 127. 3 128. 4 129. 3 130. 2
131. 2 132. 1 133. 3 134. 1 135. 1 136. 2 137. 1 138. 4 139. 3 140. 1
141. 2 142, 2 143. 4 144, 3 145. 1 146. 2 147. 1 148. 4 149. 2 150. 2
151. 2 152. 3 153. 1 154, 3 155. 2 156. 4 157. 2 158. 3 159. 2 160. 1
161. 2 162. 4 163. 2 164. 3 165. 4 166. 2 167. 1 168. 1 169. 3 170. 3
71. 3 172. 2 173. 1 174. 4 175. 4 176. 4 177. 1 178. 3 179. 2 180. 1
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CODE : 9075 (SET-B) DANGAL TEsT SERIES n
LUTION : DANGAL#04
DATE : 15 March, 2025 SoLuTio GAL#0 for NEET—2025 \ f,mf a0s A
17.  Areaunder P-V graph from AtoBis equal to work

10.

n.

2.

13.

14.

15.

16.

27

R _004(0.04

o = 6.25N

21
(0%
Pattern shown in the figure is standing wave
Hence particles at position A and B are in phase.

T=pv

| = pzSloclzzlocAzzAzoclz:Aoc1
4qr r r r
KA(20-T) KA(40-T) _KA(T-0)
2L L 2L
onsolving T =25°C
_Avo v, 3V SV
R YA VA Y AV
f1:f2:f3:f4:8:7:6:5
Af lﬂ .Af 1 2
F T 400 2\100
S Af=4Hz

Final temperature 0° C

ice melt = 8 (mass of steam)

EM wave does not require medium for
propogation.

Using phasor diagram,

A = \/(A—ACOSGOO )2 +(Ac0530° )2 =A

7
Qp =nCy(T,-T,) =140 = nER(Tz -T)
w =nR(T, - T,) = 40

PV°>/3 = constant
AU =0 (for cyclic process)

VI +V2+VE V]
V =
rms

Q=W

4
_\/12+22+62+82 105
4 4

nRT
PV=nRT:P=T

P oc T it means V is constant.

T T —50
1:1__L:l=1_u
5 T, 3 T,

T 4 5 1
= — - = -
T, 5

0
=T =300K

T
\
—

n=1- 300_1 W:W—&:ka
400 4 Q, 4

done.

AW & = (MJ % 10° x (900 — 600)

=3.75x10°
18. PV=nRT:V=nRT/P:T/P=V:V2 >V,
Q, 273 Q,
=—2 -25"""_"2-5Q =9
©. P T-T, w 30 2
20. W= 2|:)OVO = qupplied = QAB + QBC
2PV 6PV,
Q= 5° C=Q,, =—22=3PV,
-
5
3 x 3PV, 15P,\,
Qe = 5 BC 2
S
3
15PV, 2PV 2PV
Q |'d=3P0V0+ 00= 00 — oozi
supple 2 2 2PV, 21
2
2.  Work done = Area of triangle
= l xVx2P =PV
2
8 )2 9
22, 300=T|— .. T=300x—=675K
27 4
Rise= 675 —300 = 375K
23.  Volume is increasing therefore work done will
always increase.
C R
2. C -C,=Randy=—";7C,-C,=R=C,=—
C, Y-
5, .,-Cp_ 5
%5 G=Cy+R="R 7 c, 3
x5
SO Poc TV "o T2
26.  Slope cy =7,>Y
(Mono) (Diatomic)
1
27.  Meanfreepath(A)=——
x/Enndz
3
28. ETrans = EPV
29. y=2Asinkx cosmt

This is an equation of standing wave with
maximum amplitude 2A

Maximum particle velocity

V,= o xamplitude =0 x2A=2A
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A\ DANGAL 7EsT SERIES

; f"!;f ) for NEET-2025 SOLUTION : DANGAL#04
0. kQ :'(AzAz _k +32k2 37, f+72=4f =f = 73—2 — 24Hz
LR oA s 38, K=10m = 21/A =101 =% =02 m.
BT AZ—E . 210 K(70+50_30J:K=_§
p ooy 8re, 10 2(50+40
[, +e 15+e ——:——[ —30]: t =1minute

48+e=45+3e = e =15cm

N SO 21 T R =
r.m.s. M r.m.s. m
E:l/r.m.s. ;B _ /‘;X‘: _2y2:1 v——a constant
X
rms. Ja

34 PV=nRT (n= no.of moles) a1 /YR 1My
' 1Y2
e Mass of gas _ 10 —pV —ERT 3 70
Molar mass 32 32 _\/_X_x_: _x_: <
35.  Work done during process BC by gas 5 5 32 V25 4 V20
= Area below graph PdV  nRdT dv 1
grap £ PV=nRT= — =T o= =
1 PV nRT vdaT T

=—E(20+50)x(6—2)=—140J W fp
8. Ax=(r-2)r=nr=n"" 1= r(n-2)

By first law of thermodynamics to the process BC
Q=AU+W =60 =AU + (-140) .. AU=200)
i.e.U--Ug=200)

Uc- 50 =200 J = U, =250 J g5, P32 _C_ AF_AC

9 5 9 5

44. - qocR*T

36. x=Asin(ky - ot) is the equation of travelling wave
along positive y-direction.

Answer-Key

1. 4 2. 1 3. 3 4., 1 5. 3 6. 4 7. 1 8. 1 9. 1 10. 2
1. 4 12. 2 13. 3 14. 3 15. 3 16. 1 7. 3 18. 1 19. 2 20. 2
21. 1 22, 2 23. 3 24, 3 25. 4 26. 3 27. 4 28. 2 29. 4 30. 4
31. 3 32. 3 33. 3 34. 4 35. 3 36. 1 37. 3 38. 1 39. 1 40. 4
M. 1 42, 2 43, 1 44, 4 45, 2 46. 4 47. 4 48. 1 49, 2 50. 3
51. 3 52. 1 53. 2 54, 4 55. 3 56. 3 57. 2 58. 2 59. 2 60. 3
61. 1 62. 1 63. 4 64. 2 65. 1 66. 1 67. 4 68. 3 69. 4 70. 2
n. 4 72. 3 73. 4 74. 1 75. 3 76. 3 77. 4 78. 4 79. 3 80. 4
81. 4 82. 2 83. 3 84. 3 85. 1 86. 3 87. 2 88. 3 89. 4 920. 2
91. 4 92. 3 93. 4 94. 1 95. 2 96. 3 97. 2 98. 4 929. 4 100. 3
101. 4 102. 1 103. 3 104. 4 105. 3 106. 3 107. 1 108. 1 109. 4 1mM0. 3
m. 3 12. 1 1m3. 2 1m4. 2 15. 4 16. 3 17. 1 18. 2 19. 2 120. 1
121. 2 122. 1 123. 3 124. 3 125. 1 126. 4 127. 3 128. 2 129. 2 130. 1
131. 4 132. 2 133. 1 134. 1 135. 2 136. 2 137. 1 138. 4 139. 2 140. 4
1. 2 142. 3 143. 4 144. 2 145. 1 146. 4 147. 4 148. 3 149. 1 150. 2
151. 3 152. 1 153. 3 154. 2 155. 4 156. 2 157. 3 158. 3 159. 2 160. 3
161. 2 162. 1 163. 4 164. 1 165. 1 166. 1 167. 3 168. 3 169. 2 170. 1
7. 2 172. 2 173. 2 174. 2 175. 4 176. 3 177. 1 178. 2 179. 1 180. 4
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